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Problem 1 (20%)
BT mrFLrTRER (FAEM):
(1) PC (2) PET (3) Nylon 6,6 (4) PS (5)PVC

Problem 2 (12%)
AT & B & 2 F(Crystal polymer)$ & €7 % %~ -F (Amphorous
polymer) » # & & 4 —E¥EEA S AT °

Problem 3 (19%)
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Problem 4 (22%) -

()% R 3RHd 38 & (Tensile strength) ¥ 8 77 $1/8 2 B - BACKLE T TH
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(2) % B 48 A A8 4o 4T ) 7 £ 446 F 3R (DSOR AR & o T H M3
% 4445 8 B (T) 15 85 (Tw) © (6%)

(3)3% 5\ 1) A2 4% 84738 Izod & Charpy i1 %34% - (6%)

Problem 5 (15%)

#3 PE T Ak BHiAgResR 4 RAE(Free radical chain
polymerization) Z. & J& # # > € 35 #2 % R & (Initiation) RERE
(Propagation) i # it & J&(Termination) ?

Problem 6 (12%)
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